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NES-102 : FACILITATING GROWTH AND 
DEVELOPMENT 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : Answer all the three questions. All questions carry 
equal weightage. 

1. Answer the following question in about 
' 1000 words : 

Discuss the problems associated with emotional 

development of children. How can parents and 

teachers help their children deal with these 

problems ? 

OR 

How does the mass media play a significant role 

in children's learning ? How can parents ensure 

that children derive the most benefit and least 

harm from mass media ? 
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2. Answer the following question in about 
1000 words : 

What are the basic needs of primary school 
children ? How can teachers help deprived 
children in making their educational experience 
meaningful ? 

OR 

Explain the various types of play children are 
engaged in. Discuss the influence of play in 
promoting children's socio-emotional 
development. 

3. Answer any four of the following questions in 

about 250 words each : 

(a) Explain the factors which influence 
development of an integrated personality. 

(b) How can a teacher communicate love, 
understanding and acceptance to the 
children ? 

(c) Discuss the common traits of a gifted child. 

(d) Explain the ways of promoting creativity 
among children. 

(e) Explain the characteristics of slow learners. 

(f) Discuss the therapeutic use of play. 
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